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Question Number : 1 Question Id : 146587151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The climate of Chhattisgarh is
Options :

146587601. * Temperate

146587602. * Microthermal
146587603. ¥ Tropical

146587604. * Megathermal

Question Number : 1 Question Id : 146587151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
SUTTe HISaar] gl
Options :

146587601. ¥ FHRAAMT (Temperate)
146587602. % AU (Microthermal)
146587603, ¢ IU[HCET (Tropical)




146587604, % HETATURT (Megathermal)

Question Number : 2 Question Id : 146587152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Chhattisgarh is the largest state in India in terms of area.
Options :

146587605. ¥ Ninth

146587606. * Tenth

146587607. * Third

146587608. * Sixth

Question Number : 2 Question Id : 146587152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ATHA DI P T BTG HRA BT o IS1 I B
Options :

146587605, « it

146587606. % gHar

146587607. % TRIRT

146587608. % W&

Question Number : 3 Question Id : 146587153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In the 10th century, present day Chhattisgarh region was ruled by a powerful Rajput family who called themselves as:
Options :

146587609. ¥ Haihaya dynasty

146587610. * Chalukya dynasty

146587611. * Kalchuri dynasty

146587612. * Sarabhpurias



Question Number : 3 Question Id : 146587153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3T & BT &F TR 10T TrdTec! H Uep fGa=imel! oy IRaR &1 A o1, g1 We &1 Fel
Options :

146587609, ¥ §8T A

146587610. % TR I=I

146587611, ¥ Hegsl ol

146587612, % TRYYRAT

Question Number : 4 Question Id : 146587154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Chhattisgarh came under some sort of British control for the first time in:
Options :

146587613. * 1905

146587614. % 1873

146587615. % 1834

146587616. ¥ 1818

Question Number : 4 Question Id : 146587154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fafew =0 ¥ S<irTe ugd IR o 3|
Options :

146587613. * 1905

146587614. % 1873

146587615. % 1834

146587616. ¥ 1818



Question Number : 5 Question Id : 146587155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Who attacked Chhattisgarh in 1741?
Options :

146587617. ¥ The Marathas
146587618. * The British
146587619. * The Rajputs
146587620. * The Pindaris

Question Number : 5 Question Id : 146587155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

1741 H B¢ UR fohae 3TepHUT fosar U
Options :

146587617. ¢ TRIGI A

146587618, % 3Gl =

146587619. ¥ STl
146587620. * fUsal =

Question Number : 6 Question Id : 146587156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In which festival of Chhattisgarh are the Bulls worshipped?
Options :

146587621. % Hareli

146587622. % Madai

146587623. # Navakhana

146587624. ¥ Pola

Question Number : 6 Question Id : 146587156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

BTG & 5T TR T odl B1 IoT B St 82
Options :

146587621, % B!

146587622, % HSS

146587623, % TG™TI

146587624, ¢ Tl

Question Number : 7 Question Id : 146587157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following dialects of Chhattisgarhi language is also known as 'Sargujia Chhattisgarhi'?
Options :

146587625. % Kedri Chhattisgarhi

146587626. ¥ Bhandar Chhattisgarhi

146587627. # Utti Chhattisgarhi

146587628. # Rakshahun Chhattisgarhi

Question Number : 7 Question Id : 146587157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BARATGT HTST 1 FFgfarRaa siferal 8§ & fed aRagforar STl & A 9 +ft S S g2
Options :

146587625. % Bl SUATG!

146587626, ¥ USSR B Te!

146587627. % 38l BTITG!

146587628, % &g BTG

Question Number : 8 Question Id : 146587158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which of the following dance forms is a group dance in which young boys and girls participate and it allows them to choose their life partner
from the same dance troupe?

Options :

146587629. # Karma Dance
146587630. * Saila Dance
146587631. ¥ Kaksar Dance
146587632. # Grida Dance

Question Number : 8 Question Id : 146587158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
frafaRed & 3 & I T9g T el ¢ o a1 T 3R AShal HFT o § 3R SH 3¢ Su1 7 He ! I 3701 Sita- Arft g
AT et 22

Options :

146587629. % HHI S
146587630, % Tl SIY
146587631, ¢ DHIHIR S
146587632. # a1 8™

Question Number : 9 Question Id : 146587159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following singers is referred to as the 'Nightingale of Chhattisgarh'?
Options :

146587633. * Sulakshana Pandit

146587634. % Sumedha Karmahe

146587635. # Teejan Bai

146587636. ¥ Mamta Chandrakar

Question Number : 9 Question Id : 146587159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



frafoiad § ¥ fog mReT &) < &1 il &gl Sl 82
Options :

146587633. % FI&fUN Ufgd

146587634, ® gAY HHAG

146587635, % oo 9T

146587636. ¥ HHAT IKIHR

Question Number : 10 Question Id : 146587160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In which district of Chhattisgarh is the Jogimara caves situated?
Options :

146587637. ¥ Sarguja

146587638. * Surajpur

146587639. # Balrampur

146587640. # Korba

Question Number : 10 Question Id : 146587160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SITART 61T BT & fa e § fRua 32
Options :

146587637. ¥ Il

146587638. % YXGYR

146587639. % FARTAGR
146587640. # BRG]

Question Number : 11 Question Id : 146587161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In Chhattisgarh, Janapad Panchayat is headed by a President and a Vice-President, who are elected by and from the:



Options :

146587641. # Gram Sabha

146587642. #* Villages

146587643. #* Village Self-Help-Groups (SHGs)
146587644. ¥ Elected Members

Question Number : 11 Question Id : 146587161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG H, SFUG UaRId A& & UG IR Th & 3R T JUIHE DRI BId @, [orTah! &R1 fatferd fosar srar 8|
Options :

146587641, ¥ JTHIHT

146587642, % i

146587643, % YTH W-Yg1Adl IHg (SHG)

146587644, + Taifid Iew

Question Number : 12 Question Id : 146587162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Chhattisgarh, for constituting a Zila Panchayat, each district is divided into voting constituencies, not less than ten and not exceeding
(provided the population of a District is less than live lacs)

Options :

146587645. # fifteen
146587646. * twenty-five
146587647. ¥ thirty-five
146587648. * forty-five

Question Number : 12 Question Id : 146587162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TG |, Th FoTd1 Tad & T84 & g, Ude f57a &1 67 9 &H S 3R 3ife I 3ifde Ader &3t § Ry fear mar g1
(ST Tt foTel B ST RiReAT Tofia ara & &4 8




Options :
146587645. % Ugg
146587646, # TN
146587647, ¢ T

146587648. % TdTelg

Question Number : 13 Question Id : 146587163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Under Chhattisgarh Panchayat Raj Adhiniyam, 1993, Section defines the powers of every Janpad Panchayat and Zila Panchayat to
constitute certain standing committees from amongst its elected members.

Options :

146587649. # 23
146587650. #* 36
146587651. ¥ 47
146587652. % 54

Question Number : 13 Question Id : 146587163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ST Uamad Il SAFaH, 1993 & d8d, URT TS SIHUE Uamad SR e damad &1 sro fRaffrd gewt §f @ oo wirh
Al &1 T8+ B Bt Xfdadl ot RN HRl B

Options :

146587649. % 23
146587650. * 36
146587651. ¥ 47
146587652. * 54

Question Number : 14 Question Id : 146587164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Under the Mukhyamantri Swarozgar Yojana Chhattisgarh, what is the loan amount due to be given to young people who want to start their own



small business?
Options :

146587653. * 50000
146587654. * 100000
146587655. ¥ 200000
146587656. * 2500000

Question Number : 14 Question Id : 146587164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG TEIHAT TRISR IS & 3faid, Sl Jadh W8 HI Y SANT HRY HAT I8 ©, 3! BU &b &0 H o1 erRi=i <l et g2
Options :

146587653. % 50000

146587654. % 100000

146587655. ¢ 200000

146587656. % 2500000

Question Number : 15 Question Id : 146587165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which city of Chhattisgarh has been declared as the is India’s first integrated greenfield smart city by Global Environment Facility (GEF) and
World Bank-assisted Sustainable Urban Transport Project (SUTP)?

Options :

146587657. % Bilaspur
146587658. # Korba
146587659. * Bhilai
146587660. ¥ Naya Raipur

Question Number : 15 Question Id : 146587165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FURTE & ER B! AP TR JFAYT (GEF) 3R 3% S -Tgridl U Jad West uRag gRaISHT (SUTP) §RT HRd &1




Ugdl Uhidd - HIce WIC Rict g1 T 8|
Options :

146587657. % faalqR

146587658. % BT

146587659. % fiyes

146587660. ¥ 14T TYYX

Question Number : 16 Question Id : 146587166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which sub-sector of Chhattisgarh state is the single largest contributor to GSVA with the sectoral share being 22.6 percent during 2016-17?
Options :

146587661. * services

146587662. ¥ manufacturing

146587663. * agricultural

146587664. #* livestock rearing

Question Number : 16 Question Id : 146587166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2016-17 % SR UG T HT DI T IU-8F SHTFAT (GSVA) T T §81 Thd SHErdl §, ot &= RRiaR 22.6 wfawrd 82
Options :

146587661, % HdTU

146587662, ¢ fafmfor

146587663. % Py

146587664, % UIE TTTH

Question Number : 17 Question Id : 146587167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In which of the following year did the Koi revolt take place in Bastar?



Options :

146587665. ¥ 1859
146587666. * 1879
146587667. # 1850
146587668. # 1866

Question Number : 17 Question Id : 146587167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fafaRed o 9 fog o O aeer d @18 (Koi) faaig g um
Options :

146587665. ¥ 1859

146587666. % 1879

146587667. % 1850

146587668. * 1866

Question Number : 18 Question Id : 146587168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The 'Eklama Iron Ore' complex is situated in which of the following districts of Chhattisgarh?
Options :

146587669. * Durg

146587670. ¥ Kabirdham

146587671. * Narayanpur

146587672. % Kawardha

Question Number : 18 Question Id : 146587168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

THAH A8 3P’ (Eklama iron ore) TRIR TG & FHafalad & I fora ora & @ g2

Options :




146587669. % Il
146587670. ¢ DHARYUTH

146587671, % ARTIUTGR
146587672, % HaUl

Question Number : 19 Question Id : 146587169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following is the famous handloom product produced in Chhattisgarh?
Options :

146587673. % Pashmina silk

146587674. ¥ Matka silk

146587675. ¥ Tussar silk

146587676. ¥ Mulberry silk

Question Number : 19 Question Id : 146587169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fafafad & § o 1 oxiae 7 Sdred URig gyddl SIS 82
Options :

146587673, % URHIAT IR (Pashmina silk)

146587674, % HTH] W_H (Matka silk)

146587675. ¥ TR I=H (Tussar silk)

146587676. ¥ R XXM (Mulberry silk)

Question Number : 20 Question Id : 146587170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT a dialect used in Chhattisgarh?
Options :

146587677. % Kalanga



146587678. * Korwa
146587679. * Bhulia
146587680. ¥ Tulu

Question Number : 20 Question Id : 146587170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fofafed & 3 oF W Ue Sg | TART &1 o aTel sl -8 62
Options :

146587677. % B

146587678. % HRdl

146587679. % Hferd

146587680. ¢ T

Question Number : 21 Question Id : 146587171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the percentage of land used for cultivation in Chhattisgarh state?
Options :

146587681. * 35%

146587682. * 50%

146587683. ¥ 43%

146587684. % 49%

Question Number : 21 Question Id : 146587171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG T A Wil & T IUGT BT S aTelt YiH &1 W= a1 g2
Options :

146587681. # 35%

146587682. # 50%



146587683. ¥ 43%
146587684. % 49%

Question Number : 22 Question Id : 146587172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Where is Chhattisgarh Vidhan sabha (Legislative assembly) located?
Options :

146587685. ¥ Raigarh

146587686. ¥ Durg

146587687. # Korba

146587688. ¥ Raipur

Question Number : 22 Question Id : 146587172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
BTG faem gy wel fUd 82
Options :

146587685. ® Mg

146587686, % Il

146587687, % IS

146587688. ¥ MUY

Question Number : 23 Question Id : 146587173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who is the authority to decide on the pay and allowances of ministers in Chhattisgarh state?
Options :

146587689. # President of India

146587690. ¥ Chief Minister of Chhattisgarh

146587691. ¥ Governor of Chhattisgarh



146587692. ¥ Legislative Assembly

Question Number : 23 Question Id : 146587173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TG Iy | 7T & da- 3R H & IR | fofa o9 o1 iR fas ura g2
Options :

146587689. ¥ HRd & gufd

146587690. ¥ BTG ob X!

146587691, % TG o JoguTd

146587692. ¢ Ta8T qHT

Question Number : 24 Question Id : 146587174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

According to 2011 census, what percentage of Indian population is contributed by state of Chhattisgarh?
Options :

146587693. * 7.11%

146587694, ¥ 2.11%

146587695. * 5.11%

146587696. * 9.11%

Question Number : 24 Question Id : 146587174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2011 P SFRTUMT & SR, HRA SHEE H BTG 5T B FRIGR] favd= Ufd=rd g2
Options :

146587693. % 7.11%

146587694. ¢ 2.11%

146587695. % 5.11%

146587696. % 9.11%




Question Number : 25 Question Id : 146587175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who inaugurated the 2019 edition of National Tribal Dance festival which was held in Raipur?
Options :

146587697. * Narendra Modi

146587698. ¥ Rahul Gandhi

146587699. * Raman Singh

146587700. * Amit Shah

Question Number : 25 Question Id : 146587175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
YR H SIS U AP SIS [ HEITd o 2019 IREHRUT BT Igule fbd fobarm

Options :

146587697, % g A!

146587698. ¥ X1gdl gl
146587699. % I Rig

146587700. # 3{fd QT8
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Question Number : 26 Question Id : 146587176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is also known as a tablet or graphics tablet?
Options :

146587701. * Mouse

146587702. ¥ Digitiser

146587703. * Scanner

146587704. # Light pen

Question Number : 26 Question Id : 146587176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fFrofafea @ 3 ford cacie a1 Wifthad cadie ot HaT orar 82
Options :

146587701. # HI3H

146587702. ¢ T&fSiergoR

146587703, % IHR
146587704, % TISC U

Question Number : 27 Question Id : 146587177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following is a toggle key?
Options :

146587705. # ESC

146587706. * TAB

146587707. ¥ Caps lock

146587708. * Function key



Question Number : 27 Question Id : 146587177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
frofefad o ¥ 1 1 U e Tdt Bt (@FTd ot 82
Options :

146587705. % ESC

146587706. ¥ TAB

146587707. ¥ Caps lock (& Tleh)

146587708. ¥ Function key (1aRIH 1)

Question Number : 28 Question Id : 146587178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are FALSE?

(1) Laser printers are impact printers.

(i1) Inkjet printers are non-impact printers.
Options :

146587709. ¢ Only (i)

146587710. * Only (ii)

146587711. * Both (i) and (ii)
146587712. % Neither (i) nor (ii)

Question Number : 28 Question Id : 146587178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fFrafiRad 7 Q F /8 HUT T 2/2?
(i) AoR fliex siiae e g1 |

(i) SPole e AF-3ide e A &
Options :




146587709. ¥ Had (i)

146587710, % HAd (ii)
146587711, % (i) 3R (ii) I
146587712. % Tl (i) 3R AT (i)

Question Number : 29 Question Id : 146587179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

With respect to input-output devices, the term OMR stands for:
Options :

146587713. # Oval Mark Recorder

146587714, % Optical Mark Recorder

146587715. # Oval Mark Recognition

146587716. ¥ Optical Mark Recognition

Question Number : 29 Question Id : 146587179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

gTYc-3M3cye fEargy & UeH & OMR Xsg &1 JUl &1 187
Options :

146587713. % Oval Mark Recorder (31ad HIdh Replex)
146587714. % Optical Mark Recorder (3P d ATd RepreR)
146587715. % Oval Mark Recognition (3Ndd HTdh RepIIRM)
146587716. ¢ Optical Mark Recognition (3{TTP&d AT ReBIFIRM)

Question Number : 30 Question Id : 146587180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a primary memory?
Options :

146587717. ¥ RAM



146587718. % ROM
146587719. % PROM
146587720. ¥ Hard disk

Question Number : 30 Question Id : 146587180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
frafafea # 3 o9 mufie osash) 38 a8 g2
Options :

146587717. % RAM

146587718. * ROM

146587719. ¥ PROM

146587720. ¥ TS f8%F (Hard disk)

Question Number : 31 Question Id : 146587181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following options best describes the truthfulness of the below statements?

(1) Cache memory has less storage capacity than the main memory.
(i) Main memory has less storage capacity than the hard disk.

Options :

146587721. ¥ (i) - TRUE; (ii) - TRUE
146587722. #* (i) - TRUE,; (ii) - FALSE
146587723. #* (i) - FALSE,; (ii) - TRUE
146587724. * (i) - FALSE,; (ii) - FALSE

Question Number : 31 Question Id : 146587181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

feu U fasmett & @ 19 I1 fa ey Fuafefad Ui &t GadT &1 Jaidd qui- HRdl g2




() P TAR & B9 (T TERI &1 ga-T H HH IS8T (IR & dT Bl 6|
(i) T FHRT H 818 fo%m &1 gaT H HH TR (IXST) &l Bl g |
Options :

146587721, ¥ (i) - T; (ii) - T

146587722, % (i) - T; (if) - 3T

146587723, % (i) - 31 ; (ii) - T

146587724. # (i) - 319, (i) - 3TA

Question Number : 32 Question Id : 146587182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Microsoft Word, which of the following keyboard shortcuts is used to decrease the font size one point at a time?
Options :

146587725. # Ctrl + Shift + {

146587726. % Alt + Ctrl + -

146587727. % Ctrl + ]

146587728. ¥ Ctrl + [

Question Number : 32 Question Id : 146587182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Microsoft Word H, fHgfeiRad & T frg Slaie Yicdhe o IUTNT Uk HY H i A5l P Udh Ulg< HH B & [o1¢ fHaT Srdr g2
Options :

146587725. % Ctrl + Shift + {

146587726. #* Alt + Ctrl + -

146587727. % Ctrl +]

146587728. # Ctrl + [

Question Number : 33 Question Id : 146587183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In Microsoft Word 2013, which of the following menu groups is NOT present in the 'Review' tab?



Options :

146587729. ¥ Macros
146587730. * Proofing
146587731. #* Tracking
146587732. % Language

Question Number : 33 Question Id : 146587183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Microsoft Word 2013 H, FafalRad & 9 CaCkl ﬁigtr ' Review (ﬁ@' 9§ Iuds 81 gia 82
Options :

146587729. ¢ Macros (Hsp19)

146587730. * Proofing (Z(thT)

146587731. ¥ Tracking (<)

146587732. % Language (a"a\_ﬂ)

Question Number : 34 Question Id : 146587184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What will be the output of the following Microsoft Excel formula if the values in cells are as follows?
A2=50, A3=100

=IF(AND(A2<A3,A2<100),A2,"The value is out of range")

Options :

146587733. % 100

146587734. ¥ 50

146587735. #* The value is out of range

146587736. * Error

Question Number : 34 Question Id : 146587184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

el f&T T Microsoft Excel th“\ﬁ:iﬁ DT 3T3CYS AT g afe I (cells) A TER YA B2



A2=50, A3=100

=IF(AND(A2<A3,A2<100),A2,"The value is out of range")
Options :

146587733. % 100

146587734. ¥ 50

146587735. % T AT A ITGR 5|

146587736. % TR (Ff2)

Question Number : 35 Question Id : 146587185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Microsoft PowerPoint 2013, which of the following options is NOT present in the 'Master View' menu group under the "View' tab?
Options :

146587737. # Slide Master

146587738. ¥ Handout Master

146587739. ¥ Notes Master

146587740. ¥ Reading View

Question Number : 35 Question Id : 146587185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Microsoft PowerPoint 2013 ﬁ, ﬁ’ﬁﬁf@ﬁ | Of?l"l-ﬂT [AHed 'View (A %_Q' & ded 'Master View (HIRCX )’ flﬁ[a;rtr " W qﬁ%‘?
Options :

146587737. % Slide Master (¥1TgS HRCR)

146587738. # Handout Master (8 S31T3¢ HRCR)

146587739. ¥ Notes Master (A1¢H HRCX)
146587740. ¥ Reading View (J17&71 &)

Question Number : 36 Question Id : 146587186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
You want to add the same image or watermark to every Microsoft PowerPoint 2013 slide. Arrange the following steps in the appropriate



sequence to do so.

a) On the 'Slide Master' tab of the ribbon, click 'Background Styles'.

b) Click 'Format Background'.

c¢) In the Slide Master view, select the slide master at the top of the thumbnail pane on the left.

d) To insert a picture from your computer, click 'Picture' or 'texture fill'.

e) On the '"View' tab, click 'Slide Master'.

f) Under Insert picture from, click 'File'. (Or, to insert a picture that you have already copied to the clipboard, click 'Clipboard'.)
g) Locate and select the picture you want to add and then click 'Insert'.

h) If you want to create a watermark effect, in the Format Background pane, slide the Transparency bar to the right to set the opacity percentage.
Options :

146587741. ¥ ¢); ¢); a); b); d); 1); g); h)

146587742. # a); c); e); b); d); ); h); g)

146587743. # ¢); d); a); b); ¢); g); f); h)

146587744. # d); h); a); b); e); ¢); 1); g)

Question Number : 36 Question Id : 146587186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3T AP Microsoft PowerPoint 2013 T3S H A BII (A TT dTeIHD SHST IT8d & | T B & forg == feu 7w =Ruil 61 IRrd
E R ReC]

a) Y& & "Slide Master (XIlg S HIRCY)'! eq UY, 'Background Styles (ad’)‘/{ld"s LRA) CARCNEACRY

b) ‘Format Background (CI'T\IJ'JE{I._Cr m' CARENCEERY

¢) WES AReR Y H, 913 3R Ya-d U1 & 27 R WES AReR Bl Jade He |

d) 3T HLR W o P UC B & oG, "Picture (TAFR) AT "texture fill (CFHR ooty W foerep <

e)' View (&)’ ¢§ W, 'Slide Master (1SS HTER) CARENCEERY

t)%?ﬂ‘c‘fﬁﬁﬂ?th‘lﬂ%ﬂ%ﬁ File (PT3d) WR fade 3| (@1, 39 TR BT 39 B & ot o 3y ugd gt faeiueaie R wrdt a fern g,
' Clipboard ([GAUEIS) &1 faad B 1)

¢) 39 7 &1 Ud1 AHR ITBT I B R 31T ST =18 3 3R R " Insert (379 R fFae &

h) TfS MY GexHTS hde ST TR g, Al BiHe dhIs-s U H, SRS ufawrd Ie w3 & o 218 3R iRt R WIS &1 |
Options :

146587741. ¥ ¢); ¢); a); b); d); 1); g); h)

146587742. # a); c); e); b); d); ); h); g)

146587743. # ¢); d); a); b); ¢); g); f); h)




146587744. % d); h); a); b); e); ¢); ); g)

Question Number : 37 Question Id : 146587187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an application software?
Options :

146587745. ¥ i0S

146587746. % Microsoft Word

146587747. % Tally

146587748. # Microsoft PowerPoint

Question Number : 37 Question Id : 146587187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FafRad o 9 &F 91 U TR AoedeR T8l 82
Options :

146587745. ¥ i0S

146587746. * Microsoft Word

146587747. % Tally

146587748. % Microsoft PowerPoint

Question Number : 38 Question Id : 146587188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
State whether the following statements are TRUE or FALSE.

a) High level language uses complier to convert a program into low level machine code.
b) Windows 10 is a multi-tasking operating system.
¢) Microsoft PowerPoint 2013 is generally used for presentations.

Options :
146587749. ¥ a) — True; b) — True; ¢) — True
146587750. # a) — True; b) — False; ¢) — True



146587751. # a) — False; b) -True; ¢) — True
146587752. % a) — False; b) — True; ¢) — False

Question Number : 38 Question Id : 146587188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fFufeRad § O T8t I1 Tdd HYF WY Do |

2) BT AW Q19! fohft TUTH &) @t dadt 7= o & sgaq & e Hurger &1 Iua HRdl 71
b) Windows 10 WII?CP[—E'I'@“T WW%I

¢) Microsoft PowerPoint 2013 SMHIR R USi=e (presentation) & fere IuanT farar Simar %I
Options :

146587749. ¢ a) — TGI; b) — Fal; ¢) — TGl

146587750. % a)— Tal: b) — Tdd; ¢) — Tal

146587751. % a)—Tcd; b) — Tal; ¢) — Tal

146587752, # a)—Tdd; b) — Tal; ¢) — TAd

Question Number : 39 Question Id : 146587189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Match the columns.

a) z0S i) Apple
b) Windows 95 ii) IBM machine operating system
¢) OpenOffice iii) Single user operating system
d) i0S iv) Apache

Options :

146587753. % a—ii; b—iii; c —iv; d —1i
146587754. ®# a—1i;b—iii;c—ii; d —1iv



146587755. % a—1;b—ii; ¢ —1iv; d —iii
146587756. # a—1ii;b —iii; ¢ —1;d —iv

Question Number : 39 Question Id : 146587189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T =TT T F FaT FL

a) z2/0S i) Apple

b) Windows 95 |ii) IBM #efe smaifes Rwen

c) OpenOffice iii) F&Ter ZeR TR fawesn

d) 105 iv) Apache

Options :

146587753. % a—ii; b —iii; c—iv;d -1
146587754. % a—1i;b—iii; c—1ii; d —iv
146587755. % a—1i;b—ii; c—iv; d —iii
146587756. # a—ii;b—iii;c—1i;d —1iv

Question Number : 40 Question Id : 146587190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

React is a JavaScript library developed by .
Options :

146587757. ¥ Facebook

146587758. # Google

146587759. # Sun Microsystems

146587760. #* Microsoft



Question Number : 40 Question Id : 146587190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

RUae (react) R fapRid Ueh STaepy dgsst gl

Options :

146587757. ¢ BhAddH

146587758. * [ITcI

146587759, # I HIShIRRCH
146587760. ¥ HISHITIUC

Question Number : 41 Question Id : 146587191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Match the columns and select the most appropriate option from those given below.

a) PROLOG 1) JavaScript based open-source front-end framework that is mainly maintained by
Google

b) AngularJs i) Artificial intelligence programming language

¢) VBScript iii) Database for modern apps

d) MongoDB 1v) An active scripting language developed by Microsoft

Options :

146587761. % a—1ii;b—1i; ¢ —iv; d —iii
146587762. #* a—1i;b—ii;c —iv; d - iii
146587763. # a—1ii; b —iii; c —iv;d —1i
146587764. #* a—ii;b—1; ¢ —iii; d - iv



Question Number : 41 Question Id : 146587191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

few o wiew #1 e #{ AR 798 3ugea v fwed &1 999

a) PROLOG ) FaT EFee muTig 39T W He-Ues ShAdH Sl
HEAT: IFTS GaRT HETT g

b) AngularJS |ii) nfehifaae sefosg Senfder smr

c) VBScript iii) FrgfE vow & fow sTEw

d) MongoDB  |iv) AEFHEFe AT fawfaa videa fEsfeeer amr

Options :

146587761. % a—ii; b—i; ¢ —iv; d —iii
146587762. * a—1i;b—ii; c—iv; d - iii
146587763. * a—ii;b—iii; c—iv;d—1
146587764. * a—ii; b—i;c—iii; d - iv

Question Number : 42 Question Id : 146587192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the full form of DHTML?

Options :

146587765. ¥ Dynamic Hypertext Markup Language
146587766. * Dynamic Host Text Markup Language
146587767. % Durable Hypertext Markup Language
146587768. * Dynamic Hopetext Markup Language



Question Number : 42 Question Id : 146587192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

DHTML &1 0! fadTid &9 &1 8222

Options :

146587765. ¢ Dynamic Hypertext Markup Language (STIFIH® gISURCRT HIh 3T olide)
146587766. % Dynamic Host Text Markup Language (STIFTTH® gRECHRE HIH3T Tao)
146587767. # Durable Hypertext Markup Language (S?J:qu SISLRECRC A6 3T a”a\_ﬂ)
146587768. ¥ Dynamic Hopetext Markup Language (WTW BIRCRC AT 3T a‘aﬁ‘l‘)

Question Number : 43 Question Id : 146587193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Apache Cassandra open source is system.
Options :

146587769. ¥ a database

146587770. * an operating

146587771. * an application

146587772. % a utility

Question Number : 43 Question Id : 146587193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3O ST 319 IRf U Rea gl
Options :

146587769. ¥ STl

146587770. % BRI

146587771, % TIbR

146587772. % gfeferct

Question Number : 44 Question Id : 146587194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
Match the columns and select the most appropriate option from those given below.

a) JavaScript 1) Scripting language used for generating CGI scripts
b) Perl i1) Client-side scripting language
¢) Django 1il) Document-oriented NoSQL database

d) Apache CouchDB | iv) A high-level Python Web framework

Options :

146587773. % a—1ii;b—1; ¢ —1iv; d —iii
146587774. * a—1;b—ii; ¢ —1iv; d —iii
146587775. # a—1ii; b —1iii; ¢ —iv; d -
146587776. # a—1ii;b—1iv;c—1i;d —iii

Question Number : 44 Question Id : 146587194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ﬁmmmﬁmﬁﬁ?mmﬁmﬁmqmwﬁ FI

a) SETfEsee i) CGl Treed 3c9ea &t & v ygaa TefteeT sm
b) Perl i) FoTET OrET e amr

¢) Django iii) STeFgHe HNTes NoSQLeEEH

d) Apache CouchDB |iv) 3= TadT 959 39 HIH

Options :



146587773. % a—1ii;b—1; ¢ —1iv; d —iii
146587774. ¥ a—1i;b—ii; c—iv; d —iii
146587775. ¥ a—ii;b—iii;c—iv;d -
146587776. ¥ a—ii;b—iv;c—i; d—iii

Question Number : 45 Question Id : 146587195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
is about designing a website using HTMLS5 and CSS to automatically adjust its size on all devices.
Options :
146587777. ¥ Responsive Web Design
146587778. ¥ Web quote design
146587779. # Static Page Layout
146587780. * Dynamic Website Layout

Question Number : 45 Question Id : 146587195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

HTMLS5 3R CSS T IUTNT hich dqdISC fSolsd - & aR § g, forgd I+ Iusun/fearsal iR 3UPT 3eR WaTferd 4
J AT 8 STaT 8 |

Options :

146587777. ¢ Fgifyg 99 fowms
146587778. % A Pic fowms
146587779, ¥ LfeH U T3A3C
146587780. % SIATH® dTIZC A3

Question Number : 46 Question Id : 146587196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A is a device that converts digital computer signals into an analog signal form that can travel over phone lines. It also re-converts the
analog signals back into digital signals.

Options :



146587781. ¥ modem
146587782. # router
146587783. ¥ modulator
146587784. # codec

Question Number : 46 Question Id : 146587196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T U1 fgarsd B o fefied Sagex Riret & B drgH IR T A aTd T Rird ®iH & 95 ol 3 | T8 TN REre &1
T:f3frea e ot sga a3 |

Options :
146587781, ¢ TIgH
146587782. % I3Hex

146587783, % TISYc}
146587784, % BHIshH

Question Number : 47 Question Id : 146587197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In software security acronym CAPTCHA has the full form

Options :

146587785. # Completely Animated Public Turing test to tell Computers and Humans Apart
146587786. ¥ Completely Automated Public Turing test to tell Computers and Humans Apart
146587787. ¥ Completely Authenticated Public Turing test to tell Computers and Humans Apart
146587788. ¥ Completely Automated Private Turing test to tell Computers and Humans Apart

Question Number : 47 Question Id : 146587197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

e deR GR&M H Tfed Wsq CAPTCHA &1 quf &0 &1 g1l 82

Options :



146587785. % HIWdllcd! UHHCS Ufedidh Ealill [ ‘g;éa WQ@ _gHA 3{are (Completely Animated Public Turing test to tell Computers

and Humans Apart)

146587786. ¢ HICICa! 3iicics Ufeddd g1 ¢ ¢ ¢ ey U8 §gH SMUTC (Completely Automated Public Turing test to tell

Computers and Humans Apart)

146587787. % HIdilcd! Jifedhes Ufedidn Ecﬁll LS Qéﬁ d>U1I\C{-IrQ3 egH 3Ure (Completely Authenticated Public Turing test to tell
Computers and Humans Apart)

146587788. % HIUAICA! flciHcS WIZde g ¢ ¢ ¢d HCY US §JH 3MUIC (Completely Automated Private Turing test to tell

Computers and Humans Apart)

Question Number : 48 Question Id : 146587198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In computer networking, the acronym ARPANET stands for
Options :

146587789. ¥ Advanced Research Product Agency Network
146587790. ¥ Advanced Reliable Project Agency Network
146587791. ¥ Advanced Research Projects Agency Network
146587792. # Advances in Research Project Agent Network

Question Number : 48 Question Id : 146587198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

HUER el B, T3 Asq ARPANET &1 JUf &1 F1 87

Options :

146587789. % TUSARS o rsae Toidt Jead (Advanced Research Product Agency Network)
146587790. % TSRS RNIPCEEISES Q@ﬁ Jeqd (Advanced Reliable Project Agency Network)
146587791. ¢ TSdLS o Uiolaeg Q@@ Jcadh (Advanced Research Project Agency Network)
146587792. % W ELl ESERISES L{\?{C qcad (Advances in Research Project Agent Network)

Question Number : 49 Question Id : 146587199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



is a network connecting device that can be used to connect two devices in two different networks implementing different networking
protocols and overall network architecture.

Options :

146587793.
146587794.
146587795.
146587796.

¥ gateway
# Hub
# bridge

# switch

Question Number : 49 Question Id : 146587199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TS Hegd HAfaet fSargy § foIdT IUTNT &) 3aT-3feliT Aedd | of fSarsdl & siieq & fore fosar s wedr & o fafya
HcaichT Uleidid 3R Saraiid "eddh 3ffdbedar Pl AR Hd 8 |
Options :

146587793.
146587794.
146587795.
146587796.

¢ Tcd
* g9

% fool
% {9

Question Number : 50 Question Id : 146587200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following devices operates the Application Layers?
Options :
146587797.
146587798.
146587799.
146587800.

¥ Hosts

# Gateways
# Routers
% Bridges

Question Number : 50 Question Id : 146587200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



fufafad 7 @ oF a1 fSarsy ke dud & Yerferd &ar g2

Options :

146587797. ¥ BRCH
146587798. % Tieddl
146587799, ¥ A3y
146587800. % ool



